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max  {&ad St qap<c

L=ty = Agay -0
> @,y = (@ . o)
= j‘*(c) = f¢ o), fiey)

+ « .
dId(:) - QVL(K"(Qg,gcc),A(c)) Vo

4120 Page 13



hy 2
i 4 we either hae gl M =C, sove os M the.  Log rovge problem .

ov  haw Q("*' ﬂf) <C , ° Tin this o when ¢ increnses, w&hr\:ﬂ

hagpens w0 X' gt ond aléo (X, 4.

= d | (c) _
oe :

e Ps ;\:o \,\1 wmr!eshe"l‘lw‘f QlOLllheS .

1t s 'Po:»S’Be # hove both \=o and g=c it we Jet g=C passes
-{hrbuﬁh a local MOXTnwn

Ex: X C(=x7) §t. %X€0.
“L: “Xl:- EA’X
ol fo)y= -%" dia XX wp L@
- x%) . Ax=o
@
=Xx =0
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